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struct 2XHM_EH_O0IE { Y
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f==| (03]
—e = Z struct student {
Azs HHY OIE; int number; // SHH
char name[10]; // O|&

double height; 7/

% (member)
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// x2tyt 2 0|20 Xl= otH £ E // At E
struct point { struct rect {
int x; // x B2 int x;
inty; //y == inty:
2 int width;
int height;
TS !
struct complex {
double real; /] &= ERS
double imag; // A2 struct employee {
Y char name[20]; // 012
int age; // Lt0]
/] S int gender; /&8
struct date { int salary; /I Bs
int month; ¥
int day;
int year;
2
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struct: s‘tudenit { \‘\, % 2EH He

char name[20]; ,
double height;

};
int main(void){ -
struct student si1; % AN Ha A
+
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struct student {
int number;
char name[10];
double height;
%
struct student sl = { 24, "Kim", 178.9 };
s
e
T s

\k 24 K1ilm[\O Nw\\ 178.9

number namp[10] height
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sl.number = 26;
strcpy(sl.name, "Kim");
slheight = 183.2;
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struct date {

/] FEK| MO

int year;
int month;
int day;
k.
struct student { [/ TR M A
int number;

char name[10];
\‘s‘rr‘uc’r date dob;

[/ TZEH OFOf| KN ot

double height;
%

struct student si;

[/ PN H H0

sl.dob.year = 1983;
sl.dob.month = 03;
sl.dob.day = 29;
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#include <stdio.h>
#include <stdlib.h>

struct student {
int number;
char name[10];
double height;
>

int main(void)

{

struct student s;

s.number = 20070001;

strcpy(s.name," &4 &");
s.height = 180.2;

printf("eH: %d\n", s.number);

printf("°] 5 %s\n", s.name);
printf("217: %f\n", s.height);

return O;

}

3fH4: 20070001
o BUE
A1 X 180.200000




struct student {

3

int number:;
char name[10];
double height;

int main(void)

{

struct student s;

printf("31A-S 912 54A] 2. ),
scanf("7%d", &s.number);

printf("ol &= A= ahA 2 "),

scanf("%s", s.name);

printf("A1 < 912l 8hA] 2 (A 5): Y,

scanf("%If", &s.height);

printf("e%: %d\n", s.number);
printf("o]5: %s\n", s.name);
printf("217d: %f\n", s.height);
return O;

QlaislA| 2: 20070001
LS BELS

A HSIA| (A $): 180.2
: 20070001
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#include <math.h>

struct point {

int x;
inty;
>
int main(void)
{

struct point pl, p2;
int xdiff, ydiff;
double dist;

printf(" 3] xS AHFA 2 (x y): ")
scanf("%d %d", &pl.x, &pl.y):

printf("5 o] FAxE A=A 2 (x y): ")

=
crnn-F("°/ d %d" &pn2.x &pn2.v):
uuuuu  KQpe.n, Qpe.yy,

xdiff = pl.x - p2.x;
ydiff = ply - p2.y;

dist = sqri(xdiff * xdiff + ydiff * ydiff);
printf("F Akl & Agl= %BfAUTH\n", dist);

return O;
b

pl (x,y)

P2 (X,y)

qo HHEE QYA 2(xy): 10 10
qo 2 HEE QYFH A 2(xy): 20 20
= GAto1S Hel£ 14.142136 Y L T
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struct point {
int x;
inty;

¥

struct rect {
struct point pl;
struct point p2;
>

int main(void)
{
struct rect r;
int w, h, area, peri;

printf(" 1% de) xS A "),
scanf("%d %d", &r.pl.x, &r.ply);

printf(" L S5 Jete] HEE AHA L
scanf("%d °/od" &r.p2.x, &r.p2.y);

w=r.p2.x - r.pl.x;
h=rp2x-rplx;

area=w* h;
peri=2*w+2*h;
printf("H 42 %do] il =& = %dY U TE\n", area, peri);

return O;

pi(xy)

p2(xy)
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struct point {

int x;
inty;
>
int main(void)
{

struct point p1 = {10, 20};
struct point p2 = {30, 40};

p2 = pl;

if(pl==p2)
printf("plet p20| &2 &LICH")

if( (pl.x == p2.x) && (ply == p2.y) )
printf("p1t p20| 25 LICt"
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struct student {
int number;
char name[20];
double height
>
int main(void)
{
struct student list[100]
list[2].number = 27;

/] TZEX| Q| HY
strcpy(list[2].name,

list[2].height = 178.0;
}
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struct student list[3] = {
{1,"Park", 172.8 }

{2 "Kim" 179.2},
{3,"Lee", 180.3}
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#define SIZE 3

struct student {
int number;
char name[20];
double height;

int main(void)

struct student list[SIZE];
int i;

for(i = 0; i < SIZE; i++)

{
printf("erH S kA 2 "),
scanf("%d", &list[i].number);
printf("°olF& A=A ")
scanf(""/os" IIST[I] nam e)'
printf("A17d-S 4 3tA L

scanf("%If", &lis‘r[i].henghf)

I

}
for(i = 0; i« SIZE; i++)

9 () ")

&

@ & 2rA/2: 20070001

UYH I Q: BUE

QUL L(44): 180.2

@ = 24/ 2: 20070002

QUG AL YRA

QI OrA 1 2(44): 178.3

@ = 2rA/2: 20070003

QU OrAI L. Ol H

AL QBRI L(4H4): 176.3

¢t 20070001, o/ &: & Y&, 4/ 7 180.200000
QfH: 20070002, o/ &: Y24/, 4/ %4 178.300000
dH1- 20070003, O/ 2 O/ H, A/ A 176.300000
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printf("eH: %d, o] 5: %s, 417 %f\n", list[i]l.number, list[i]l.name, list[i].height);

return O;
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struct student *p;

struct student s = { 20070001, "2 =", 180.2 };
struct student *p;

p = &s;

printf("s 81=%d 01 S=%s I|=%f \n", s.number, s.name, s.height);
printf("e 81=%d 015=%s I|=%f \n", (*p).number,(*p).name (*p).height);
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struct student *p;

struct student s = { 20070001, "= 2 =", 180.2 };
struct student *p;

p = &s;
printf("&B1=%d 0| S=%s I|=%f \n", s.number, s.name, s.height);

printf("&B1=%d 0| S=%s I|=%f \n", (*p).number,(*p).name,(*p).height);
printf("St=%d 01 S=%s I|=%f \n", p->number, p->name, p->height);

E(*p) -number Ep—>number
— o o
pot Jt2I3le FXXH H GED G & ~
N = pot Jteldle REAAM Y2l HH number

pJt Jteldls REM B2 H number
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#include <stdio.h>

struct student {
int number;
char name[20];
double height;

).

int main(void)

{
struct student s = { 20070001, "= 45", 180.2 };
struct student *p;
p = 4&s;
printf ("t =%d ©]5=%s 7]=%f \n", s.number, s.name, s.height);
printf("H=%d °] F=%s 7]=%f \n", (*p).number,(*p).name,(*p).height);
printf("eH=%d °] F=%s 7|=%f \n", p->number, p->name, p->height);
return O;

}

Qf1=20070001 o/ £=8 Y& 7/=180.200000
Qf1=20070001 o/ £=8 Y& 7/=180.200000
Qf1=20070001 o/ £=8 Y& 7/=180.200000
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struct date { st 20070001
et Yk -
it day: HE 22 19804 38 20
int year; O
>
struct student {
int number;
char name[20]; TEH s
double height;
s e Sl 007000 i IOl IS (180.2 ’
5 number napnd /1] height dob
int main(void)
{
struct date d = { 3, 20, 1980 }; FEH
struct student s = { 20070001, "Kim", 180.2 };
3 20 1980
s.dob = &d; month |  day year

printf("eH: %d\n", s.number);

printf("°] 5 %s\n", s.name);

printf("217: %f\n", s.height);

printf("Add U %did %d¥ %d\n", s.dob->year, s.dob->month, s.dob->day);
return O;
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struct student {

int number;
char name[10];
double height; P& s
struct student *next; ‘ A —
}: mKL Ixe (1672 D
4 number | | mméﬁ . . . height next
int main(void) /
{ /
struct student s1 = { 30, "Kim", 167.2, NULL }; /
struct student s2 = { 31, "Park", 179.1, NULL }; /
struct student *first = NULL; / )
struct student *current = NULL; 2o -
31 ".iP‘I.IaETrrllkﬁ;d; N TG0 ; 0
f;PST :T&Si; . - | number !rmrr%e;l(f l | height next
sl.next = &s2; )
s2.next = NULL;
current = first;
while( current I= NULL )
{
printf("eA o] M E=%d o] 5=%s, 7|=%f\n", current->number,
current->name, current->height);
current = current->next;
}
}
st ol HH5 =30 0| E=Kim, 7|=167.200000
stMo| H5=31 0| 2=Park, 7|=179.100000
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int equal(struct student sl, struct student s2)
{
if( strcmp(sl.name, s2.name) == 0 )
return 1;
else
return O;
}

o AIHC EOIEHS B0 U4E HUHe B
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int equal(struct student const *pl, struct student const *p2)

{
if( stremp(pl->name, p2->name) == 0 )
return 1;
else
return O;
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struct student make_student(void)

{

struct student s;

printf("L+O[:");

scanf("%d", &s.age);

printf("0| =), TN s HAHE
scanf("%s", s.name); ol Wi,
printf("7|:").

scanf("%f", &s.height);

return s;
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#include <stdio.h>
struct vector {
float x;
float y; d+D,
JX T
struct vector get_vector_sum(struct vector a, struct vector b);
int main(void) —= >

{
struct vectora={2.0,3.0};

struct vector b={5.0,6.0};
struct vector sum;

sum = get_vector_sum(a, b);
printf(" €] 2] 2 (%f, %f)JHTE\n", sum.x, sum.y):

return O;
}

struct vector get_vector_sum(struct vector a, struct vector b)

{
struct vector result;
result.x = a.x + b.x;
result.y = ay + b.y:
return result;

}

HIE{ 9| gt2 (7.000000, 9.000000) 2 L|LCt.
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#include <stdio.h> i
struct point {

int x;

inty. ye

2
/] &7 9 yARS At
int get_line_parameter(struct point p1, struct point p2, float *slope, float *Jir

if( pl.x == p2.x) ]
return (-1);
else
Q b
{

*slope = (float)(p2.y - pl.y)/(float)(p2.x - pl.x);
*yintercept = ply - (*slope) * pl.x;

return (0);
}
}
int main(void)
{
struct point ptl = {3, 3}, pt2 = {6, 6};
float sy;
if( get_line_parameter(ptl, pt2, &s, &y) == -1)
printf(" 2.7 T xIEgke] LYo An");
else
printf(" 7171 %f, ydH-2 %f\n", s, y):
return O;
}

7|Z7|= 1.000000, yEH2 0.000000
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union example {
char c; /&
int i; //
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#include <stdio.h>
uniori\nﬁ.ample { T QN A
char c;
).
BN A A,
En‘r main(void) J o SIS T
union example v; Jz
v.c="A’;
printf("v.c:%c v.i:%i\n", v.c, v.i ).
v.i = 10000; int Y= M
printf("v.c:%c v.i:%i\n", v.c, v.i);
}
V.C:A v.i:65

v.c:[]v.i:10000
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#include <stdio.h>

union ip_address {
unsigned long laddr;
unsigned char saddr[4];

}; 7 F000001

laddr

%

int main(void)

{
union ip_address addr; 0x7 F000001

addr.saddr[0] = 1; @ o oaotiol -‘

addr.saddr[1] = O;
addr.saddr[2] = O; saddif] ety
addr.saddr[3] = 127;

printf("%x\n", addr.laddr);

return O;

}

7f000001




#include <stdio.h>

#define STU_NUMBER 1
#define REG_NUMBER 2

struct student {

int type;
union {
int stu_number; // &
char reg_number[15]; // FHl EHS
}id;
char name[20];
>
void print(struct student s)
{

switch(s.type)

case STU_NUMBER:

1 %4

prun‘rf("@‘ﬂd %d\n", s.id.stu_number);

printf("°]&: %s\n", s.name);
break
case REG_NUMBER:

ZU]I:

printf("5=11 55 E: %d\n", s.id.reg_number);

printf("°]&: %s\n", s.name);
break
default:
printf("EF Y4 27 \n");
break
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int main(void)
{
struct student si, s2;
sl.type = STU_NUMBER;
sl.id.stu_number = 20070001;
strcpy(sl.name, "&4");
s2.type = REG_NUMBER;
strcpy(s2.id.reg_number, "860101-1058031");
strcpy(s2.name, "7 A ")
print(sl);
print(s2);
return O;
}
ofH: 20070001
og: BUTFT
SUISEHD: 1244868
ol E: WAL
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enum EiZ_ol & { Uk, W2, ... )

enum daysl { MON, TUE, W

enum days2 { MON=1, TUE, E T S T SUN}

enum days3 { MON=1, TUE=2, WED=3, THU 4 FRI=5, SAT=6, SUN=7 };
F

enum days4 { MON, TUE=2, WED=3, THU, AT, SUN };

o
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enum daysl d;
d = WED:
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enum days { SUN, MON, TUE, WED, THU, FRI, SAT };

enum colors { white, red, blue, green, black };

enum boolean {0, 1};

enum months { JAN, FEB, MAR, APR, MAY, JUN, JUL, AUG, SEP, OCT, NOV, DEC };
enum major { COMMUNICATION, COMPUTER, ELECTRIC, ELECTRONICS };

enum component { MAIN_BOARD, CPU, GRAPHIC_CARD, DISK, MEMORY };

enum CarOptions

{
SunRoof = 0x01,
Spoiler = 0x02,
FogLights = 0x04,
TintedWindows = 0x08,
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switch(code) {
case 1:

printf("LCD TV\n");
break;

case 2:
printf("PDP TV\n");
break;

}
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#define LCD 1
#define PDP 2

switch(code) {
case LCD:
printf("LCD TV\n");
break;
case PDP:
printf("PDP TV\n");
break;

HH 5

L
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enum tvtype { LCD, PDP };
enum tvtype code;

switch(code) {
case LCD:
printf("LCD TV\n");
break;
case PDP:
printf("PDP TV\n");
break;
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#include <stdio.h>

enum days { MON, TUE, WED, THU, FRTI, SAT, SUN }.
char *days_name[] = {

monday" "fuesday", "
"saturday", "

wednesday", "thursday", "friday",
sunday" };

int main(void)

{

enum days d;

for(d=MON; d<=SUN; d++)

{

printf("%dH A 2.2l o] F2 %sUHth\n", d, days_name[d]):

}
1
ORI 2 Yol 0|2 monday & L|Cf
1HM 2 29| 0| 52 tuesday L Ef
2H A @ 29| 0| &2 wednesday & L|C}
SHA| @ 9| 0|52 thursday Q! L|C}
AR @ Yol O] &2 friday L Ef
SHR| 2 9| 0|2 & saturday Q! L|LC}
6 2 2| O] 52 sunday @} L|C}
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#include <stdio.h>
enum tvtype { tube, lcd, plasma, projection };

int main(void)

{
enum tvtype type:

printf("TV =7 Z=2 #5119 ")

scanf("%d", &type);

V3R IEE
TE2HMT

<
i

P

printf("11.2h8-3 TVE A1 85H3 U thAn);

switch(type)
{
case tube:
break;
case lcd:
printf("LCD TVE A &)
break;
case plasma:

printf("PDP TVE 41 &)

break;
case projection:

printf(" 2 2 44 TVE

break;
default:
printf("ThA] A e 3to]
break;
}
return O;

i

IR sU o A\n");

O

st FH T AN");

Aest 5",
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type

C)_

o typedef2 ME R AtE2A(type)= H2|(define)

typedef  o/d_type new._type;

- Col 7|2 ANEHS Y= 9

L

typedef unsigned char BYTE;
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int

short

unsigned int

unsigned short

unsigned char

char

~fO! Ml
<= i
WEOE K2
INT32

INT16
UINT32
UINTL6

UCHAR, BYTE
CHAR

typedef int INT32;
typedef unsigned int UINT3Z2;

INT32 i;
UINT32 k;

// int i;2F 2C}.

typedef struct point {
int x;
inty;

} POINT;

POINT p.q;

// unsigned int k; 2t 2 C}.

typedef struct complex {
double real;
double imag;
} COMPLEX;

COMPLEX x, y:
typedef enum { FALSE, TRUE } BOOL;

BOOL condition;
condition;

// enum { FALSE, TRUE }

typedef char * STRING_PTR;

STRING_PTR p; // char *p;
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— #define UINT32 unsigned int
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— typedef float VECTOR[2];// #define@ 2= E7}53}C}
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#include <stdio.h>
typedef struct point {
int x;
inty;
} POINT;
POINT translate(POINT p, POINT delta);

int main(void)

{
POINTp={2,3}
POINT delta = {10, 10 };
POINT result;
result = translate(p, delta);
printf("A =3 Ao H3x=(%d, %d)FHTE\n", result.x, result.y);
return O;
}
POINT translate(POINT p, POINT delta)
{
POINT new_p:;
new_p.x = p.x + delta.x;
new_p.y = p.y + delta.y;
refurn new_p;
}

Mz=2 "o Zt& = (12, 13) Y L|Ct.







